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10.1 Modeling and Solving One Step Equations

What value of x would make each equation true?

so\vmﬁ meons " Whed mokes  the eo,uafi\'or\ Nue”

3x=12 X5
3
x=h %15 = Signs Ime
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How can you check to make sure your answer is correct? 3(._0 =12
theck bb subshiwhon |
= 12
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Solving by inspection is also called: quess cno Oneck .
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An equation can also be solved using a diagram:

3x =12 X_5
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Solving by inspection can become more difficult if the numbers don't work out

nicely:

12x =726

solve 'D\lj

a+14 =372

® wuse oppesite operodions
@ Ao 'W\e, AT 51‘.Q{» o beth 8rdeg o.ﬂ Hhe equa:hbf\_

The best way to solve an equation is to apply the opposite process.

Example:
a) 4x=8
mAdN
Ty
X =22
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i so\a:h‘r\s the varioble
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Examples:

Write an equation and solve using the opposite operation for each of the following:
v, = 2Z-+Hwmes +

The average temperature in Vancouverlisftwice asjwarm as[the temperature in
Toronto.] I f the temperature in Vancouver is 12°C, what is the temperature in

o

Toronto? V = 'lt
12 = 2t
L = Phv

3 2
- 6

Alejandro is making bead necklaces. He has 144 beads which he will use to make 9
necklaces. How many beads are on each necklace?

o= ¥ Deods on  one, nedc\cce.
Ah = 4y
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b= 16 e neoclote

How can you check to see if your answer is correct?

Solve:

6x = -42 Check: bﬁj 3ub$\'\'3(\/~£0h

b - (-3 = -u2
&6~ ©

..-L.\'L = ...-l+2_ '\/
X = -%F

(‘\:’5%.4}- 5,% 01, 12- 16, 19,20, zz,zvj
Qu\y neer  CosS.




